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X?/dof = 52.7/2

Slope =-0.994 + 0.001

X backward scan
x%dof = 6.0/2
Slope = -0.9952 + 0.0009
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Slope =-0.994 + 0.001

01—

-0.1
-0.2
-0.3

e b b e e e e e b b L 1

-40 -30 -20

-10 0 10 20 30 40
Nominal position [um]

CMS Preliminary

F Y forward scan
—-600[— o/ o
x?/dof = 1.7/2

_s10/— Slope =0.991+ 0.001

-620

Fill 7442

-630

-650

-660

Measured vertex position [um

&

p

o
w\\\\‘\\\\‘HH‘HH‘HH‘HH‘HH

-670

2018 (5.02 TeV)

Y backward scan

x4/dof = 1.5/2
Slope = 0.991+ 0.001,

01—
S 005 —

B-0.05

-0.1—

CMS Preliminary

Nominal position [pum]

2018 (5.02 TeV)

Y forward scan
x?/dof = 11.3/2
Slope = 0.992 + 0.001

|
@
e}
=)

-610
2EFill 7483

-630

-640]

|
=}
a
=)

Measured vertex position [um]

|
o
3
=

Y backward scan

x%dof = 0.7/2
Slope = 0.990 + 0.001

[J\w\\\\‘\\H‘HH‘HH‘HH‘HH‘HH TT

Resid. [um]
T
—

| IR R

10 20 30 40
Nominal position [um]



